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10.  2 m = . 
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11.  3x2

 = 81.  
 

     

( ; 3) [ 3; 2) [ 2; 0) [0; 2) (2; + ) 

 
12. ABCD AD  

K  BK = CD, AK : KD = 3 : 2 
BC = 20, AKB = 

 
 
 

     

120 cos  120 tg      60 tg  

 

13. bn) 
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52 6 18 12 24 

 
14.  log6 3 + log6 4. 
 

     

2 2 log6 12 4 2 log6 7 log6 13 

 

15.  
2 = 7,

3
24 = 6.
3

yx

yx
    x0; y0)   

x0 + y0 =  
 

     

6 2,5 1,5 4,5 3,5 
 

A 

B C 

D K 
 



 

 
65 https://t.me/abitmath https://t.me/abitblog 

16
 

 
 
16. - 

   
 

 

1 sin  

2 cos 90  

3  
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18. ABCD
KBC ( B = 90 ) . 
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20. M(4; 9; 7), 
AMB, A(8; 12; 12)

S   . 
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22.  a,   

lg (2ax + 5  a) = lg (4x)  
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